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function getMonthFromString(dateOfStringFormat) {
const monthOfNumberFormat =

return monthOfNumberFormat;

}

parseInt(date0OfStringFormat
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function getMonthFromString(dateOfStringFormat) {
if (typeof dateOfStringFormat !== "string") {
throw Error("Invalid format of parameter");
s

const monthOfNumberFormat = parselnt(dateOfStringFormat
return monthOfNumberFormat;

}
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const getMonth = (date: string): number => {
return parselnt(date.substring(4, 6), 10);

}
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https://github.com/denysdovhan/wtfjs

Default Parameter, Rest Parameter

e ES6. Rest Parameter

e ESG. Default Parameter


https://jaeyeophan.github.io/2017/04/18/ES6-4-Spread-Rest-parameter/
https://jaeyeophan.github.io/2017/04/18/ES6-5-Destructuring-and-Default-Parameter/
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Default parameter TypeScript code

const getRandomNumber = (min: number = 0, max: number = 1i
return Math.floor(Math.random() * (max - min)) + min;
¥

console. log(getRandomNumber(1)); // OK!
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Rest parameter TypeScript code

export const setSkills = (...skills: string[]): void => {
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Optional Parameter
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const setSpec = (major: string, option?: string): void =>
console.log(major);
console. log(option);

¥

setSpec("Computer Science");

// console> Computer Science

// console> undefined
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Union Type
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sayName(position: string | boolean | number): void {
if (typeof position === "string") {
console.log( string type position );
} else if (typeof position === "boolean") {
console. log( boolean type position )
} else {
console.log( else’);
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Overloading
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https://jaeyeophan.github.io/2017/12/13/TS-2-Class/

class Person {
[/
sayName(position: string, option?: string): void;
sayName(position: boolean, option: string): void;
sayName(position: string | boolean, option: any): any {

if (typeof position === '"string") A
console. log( string type position’);
} else if (typeof position === "boolean") {
console. log( boolean type position )
} else {
console.log( else’);
¥
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}
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const person: Person = new Person();

person.sayName("FrontEnd");
person.sayName("FrontEnd", "optional);
person.sayName(false, "option required");
// person.sayName(true); Error! (1)

// person.sayName(1l); Error! (2)
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